
��������	������� �� 	
���
��� ��� ���
� ����

�
� ���
�� ������

���������� ��� ���� 	
�� �
�
���� � �� ���� ��� ���� ����
���� 	
�� ���������� � ��
���� ��� ���� ��� ������ �� �
��� ������� ��� !∀ ����∀ ��
#������ � ∃% ������� ��
!�
������ &�� � ��� ∋������(����
��)��∗����� ∗+� ��� ,� � −./.
�
∗� ∃����� ��� �� ��� �������
����� ,� ���� ��& ��∀ 0���
������������������ !���∗����
%1�2��� &��
 ∃
�&��∀) ∗+�
−.// �&�� �� � �
�+∀) �������
3�∀ � ��� ,� � ��� ��)�����

������� ��� 4,� � ��� ∃
��
���∀ �
����5  �� ��� ∃�
��
�
���� 
�� ∋��
��� ���������
������ %��∀ 1∗��&���∀ � −./.
+&���∀ ���&��� 6�&�� ��� ��∀ �
�
� ��� ∋������ ������� �
∀ 
��� �� � ��� (����� ��)�������
�1∀ ���� −7 ∃
����∀ �
����
 ��
��� #������ � ��� �

���� ������
 ��� ������

 8∀ ���� +&�� �
9�� ���
6�
��∀ �� 6�����9���� �� !���
&��� �
� (�1��������� ��� 	��
��&����� &������ !���∗����
%1�2��� �&�� �������:9��∀ ��
����������
���� 46�� ��82��
∃
����∀ �
�� ���� ��� ∃
∗�
���������1��� ��� 
������
;
����� 6�� �������82�� ∃
��
���∀ �
�� ���� ���� ��∀ 
�����
�����&����� �
 <�� 
�� ∃
��
���� �� ��� ��
� ������  ��
&���5
=���1∀ ��∀ ∗+ ���� �����

∃
����∀ �
���� �
 ��� ���
)����� �� ��� ∋������ 	���
4!
9����� �5 ��� ��� �
����
��� −/> ... 	
��� ��� ?����
��� �
� �/.. �����&����� �

!∀ ���� �������∀ �∗��� 	���
4!
9����� �5 ����� �
∀ ���
/��> (������ �������� �� %1��
2���� �

 0������∀ � −..� ���
��� 3������
���� ��∀ 



� � ��� �. ���� 	
�� �������
���� ��� ,� ���+&���∀ 
�� ���

&�� �− ���� 	
��� ��� ��� !����
���
�� �
∗ �
� ���� ����
	
�� ���������� 4 �&�� ���
��� (��∗��� �����∀ �5� �1
9∗�
�� %1�2��� �������� ���� 	��
����
����� ≅+� −.// ������ ��
�
� ����� )��)����� �������
4Α�� ������ 
�� �����������
���� ��� ������ �� ��� ������
��� /− &�� /� (������ �������
)�

���5 ��� ����� ��
�

�1�)�� ���∀ ���2�� 
�� ���
3�∀  �����)��� �����1�)��� ���
�� 

����∗��
����∀ � (���
)�
��� 	������� !∀ 8� ����∗� ���
 �� ��� ��)���&������ 4	��
&���∀ ��  �&�� ��� ��������
�
∗ ��� (���
)�����1�������5�
�� %1�2���� 6�� �
���� 
��
��� Α��������∀:∀�����������
(����� ���� 

 
� � ��� >.
(������ �
�+∀)� ��� ���)�
( ��� ���� ��∀ � 
� � 
�����
������� 
�� �� ������� ,� ���
����∀ ������� 	�∗���� ������
��� ��� !∀ ����∀ �� �������

�� � ��� !9���	�∗���
�����
	�� 0������ ��� �
������ 
��
∀ � 
�� ������∀ �� 
�� 	∀��
�
����(���
)���� ��� ��� >�
Β�����Α����� 1 ���� �����
��� ���������������� 0���
����������������� ��∀ ���
%�� ��
�

 	�∗��� ��
��� �
∀ �


����������� ,� � ��� ����

��� ��
��∀ � ���)� 
�� ���

�
∗����&����� Β1���� ���
Χ ���� <����� 
�� ∋��������
&��� �
�� ���� 0������ ������
�
������ 
�∀ � #������ �
�
 ∃
������ !� ��� ��� �
�
������∀ ��

 �� Β������
����
)� &�� ∆��7 (������� 6�� ��&
���� #������ � ��� ����
 ����

�� �
∀ �
∗ ��
 �∗��)����
�∀ �� ;�������� �����1�)� �1�
��� ������ 
�� ��� (���
)�
���� �� �����
 ∀ ������∀ ��
Α��) �� ��� )�

����� ����
,� ��� 

 >. (������ �����
����� ∃&�� �
∀ ��� ��
��∀ ��
!�������� �� !∀ ����∀ Ε;����
��������Φ 
�� Γ∗∗��&
�� ����
��� ������ 
����������� 
��
�
���&�
�� =���� ��� ��9����
��� ∃
�&�
� ��� ∃
��
�������
�
�� ����� �
∀ ��� �����&���
����� � ������ �������� )+�����
�� %1�2��� ��� !∀ ���9
�)��

12�� ���� �
 ∃
����� �

0������&� �&�� �
∀ �� ���
��
��∀ �� !����������

��������	���
 
���� ���� 
	� �	���
	 �	���	�
	�
�
����  ������� ��! �
� �����
��
�� ∀ �# ��∃
%�&��∃��
�����%�� !∋� (��
������� ������������∃������

	
��
� ��� ������

����������� ��� �������� ���� 
!� �� (��
�

Η
����1� Ε(�����
�&�∀ ��� ∗+� 3��
��Η
����1�Φ�

��������� �� ��� !�
��������
Α����� 
�� (���
)���&8����
6
�∀ �∀ ������0��)�
∗�9����
��� #������ ∗��� 0��&��
∀ ���
���) �
 %��2��

 !�
������ ?�
/.. Β���� Ε����∀ ���2��∀ 
��!�� 
�� 	��8�&�������
�
����&��&� ��
 /−� ∃9���
−.//� �� ;��

��� (����� ���
0����∀ �Φ�

&�� />..Β��� �∆�−/ Ε���/∆ΦΙ
� −...Β��� �7�.∆ Ε�−���ΦΙ
� −>..Β��� �/�−� Ε�.�>�ΦΙ
� �>..Β��� �.��� Ε����7ΦΙ
� 7>..Β��� ���>� Ε�����ΦΙ
� >>..Β��� �∆��7 Ε�∆�>�ΦΙ
� �>..Β��� �∆�>� Ε�∆�/7ΦΙ
� ∆>..Β��� ����/ Ε�∆�−−ΦΙ
� �>..Β��� ����∆ Ε���∆�ΦΙ

����������� ∀�#�������������
∀��∃%��� ��& ���∋���� %�(
))�∗)+� ,−��� +.))/ ∋
���� ∃�
/�.�−..� ∋� /�.�/�.ϑ ;+ � ∃�
/�>�/7>� ∋� /−>�/�.� Χ�
�>�//>� 6� ∆.��.ϑ ≅1���� ∃�
/�.�/∆>� ∋� />.�/�.� Χ�
/−>�/7>ϑ !∀ ����� �Φ
/�7�/��� ∀/Φ /�7�/��� ∀−Φ
/−��/�.� ∀�Φ //��/−/� ���)��
�����
∗� ∋
���� 
������ ;+ �

������ ≅1���� 
������ !∀ ����
�� �����

0���#���1∗2������6�� �������
�1∀ ���∀ � ≅�����
�������
#���

� �8������  �� ���
!���������� ∗+� ∋��)�� �∀ ��∗
)���������� 6�� 43�
�� Γ����
&�+∀)�� ����
��5 Ε������∀ Φ
����� ��� ��� =���� ��� �
��91��
�∀ �� ∋��)���
∗��∀ ��&� 8��
�� Ε	∋∃Φ ∗+ ���� �
 ����
∗1��∀ ��� 	���&������ 
�� ����
�� �� �� �������� 6�� 	∋∃
9�+∗� 
���� ������
 �
∀ ���
Β�����&��) 3���ΚΒ∋� �
 ���
��� 	�����+
��� ��� Β���
3�������∀ ��� �1 ��� 6��
∋��) ���&��  ���� ������� ���
)�1��� ��� ∃
����� ��� ∋���
)���!���������� ��� �8���� �∗∗���
∋��  �
�� ����� ��� ;��������
∗+� ��� ∋��)������ 
������
��1���� 
�� ������9�+∀ ��∀ �
����� 3���ΚΒ∋�Χ �∗ %
����
6
�)��� 6�� ,� � −./.  �&�
��� 3���ΚΒ∋ 
�� −�� ����
	
�� %����� �&���∀ �������
−..� ��� ��� ∋��) ���∗ �� ���
0���
������ ���
��∀ �� 6��
	∋∃ +&��9�+∗� ��� ����
 ���
;���)�9����Η
��� ��� ∋��)���
��� �
������ ��������� ��� ���
��)�9��������� �
�∀ ������
������ ����∀)� �����

���������
��������	��	���
���	 ����

���������∗���&�����(� 6��
∃
��&�
�� 6��
��� 
�� ���
�
���∗���� ∋��∀ ������ )+�∗�
��� ��
�����
 	��)���
����
��� ∗+� ≅� ���
��  ����������
6�� &����� ������� 
��

�������∀ ����� ������� ����
����9��∀ ���� ∃&��∀ ����)�1�
�
�� �
� %�+��
�� �����
,���� 0���
��� 6�� ��
������

� (���
)���� �
 ∋��∀ �
Α��) �� #����� ��
 ���� −./−
��������

������� � �
��	����!����	�

����������(� Γ9��  �� 
��
��
 ∋�
 ����� ��
�� �����
������)� �
 ����
������∀ ��
!�������� ��� &�������� 6��
∃
��&�
�� ���������� ���� >..
���� 	
�� 
�� �∀ �∗∗� �..
∃�&����9�1���� <� ������ ����
��� ���� ��
� ∋������ 
�� 6���
���
������∗�
����� 9���
�
����� ������� ��� ��� )+�∗����
∃&������
 	
�� � ��∗+�����

∀#	� ���� �	�	�
�����	��	��

(
�%!�
�) ∗+�,��� −
�
. 	�����

3���1����� 6�� 6�
��∀ � ∋� �

�� � �� �����)��9��&��� Β�)�
∗+ ���  �&�� ������� ��
�����
���� 

 ��� ������� ≅��� ���
��� ����� ��
�� =���∗���������
���
����� 6�� ∃�&�����&��
��� ∋� � Ε6∋Φ 
�� ��� %��
���)�∀ �∗� 6�
��∀ �� Β�)��

����∗+ ��� Ε%6ΒΦ ������� ��
����
 #���� �
 ≅���)∗
����
≅�
� �∗�� ���� �����

��)���
��� �
��1

�� 
�� ��� ;�
�
9��
��� ����+���� ∗����
�����
∃
 ∗�+ �� ∃&��� ��� �&��
��� 	��� ��� ����∀ ��������
%��9�1∀ � ��∀ � �&�� &���
��� !9��∀ ������� ��� &�����
=���∗9������� &���∀ ������ 6�
��∀ ��� ���� !����� �� ���
��� ������ /� 0�� ����
����
�
���� ����∀ ������ �����1�
 ���  ������ ��� ���� 	����
��
∗+� ��� −. ... Β�)∗+ ��� ���
������������� ;������� �&��
����∗&���  ��2 �� �������
∃&���� !������� ����� ��∀ ���
���� (
�)�� �
 6∋�#�
�����∗�
������� � ���� ��� 	��)�
�

����� 8 
�� 
�� Β�
∗����
����� ������ ∗+� Β�)∗+ ����
��� ����� ����� =��

��
��∀ � 
� � �
�+∀) �� ��� ≅+ �
�������� )8�����

∃��� ��	����	���
�������� � ���
�� ��	�����	 %&�	

3���&�����&�� 6�� ������
������� 
�� ��� ≅��
����
��1���� �∀ ���� ��
99� ���� ���
������� Α�� <���������������
��� !���∗���� ∋�∀) ������� &��
��∀ �����  �� ��� ∋
��� 6�
∀)
%
&# �
� Γ∗∗��&
�� ��� %��
�∀ 1∗��&�����& ��� 4
��� ��&���
��
∀) %
&#5 
�� !��� ��
3+��&��� +&����

��� ∃
�
2����
  �� ��� !=∃�; ������
�� 
�����
99� �
� ∋��
��
��� %��∀ 1∗��&�����& ��� ��
3+��&��� ���1������ �∀ �����
Α��&������
� 4
����−9����
%
&#5 �����&��� ≅+� ��� ���
����� ��
��∀ �� �∀ �����%��
�����∀ �∗��� ��
��� ��� 0���
)�
∗���� ����
���� ���

����	 ∋����	�
���
 (	������

����� 	
���/�
���&0��%�� ��! ������ ����
�/∃������  ������ ��! )�� ��
���
∃� 
� 1��)�∃/�∃
�� /�!
�)�
���� 2���%
� 
����� 2��3 ��&
��/�
��� 0
∃��� �� 
����� −
�
. ��� 4���#�&��� !�������� (�����


��  8 ��� ������ ������
��� ��
��∀ �� ∃
∗�∀ �
��
��∀ (������� ��� ≅������

��)��Λ9����� �� ��� )�
�

����� ������� &��
����
6�� �	Α�∋���
���� ∗+� ���
;��?
�)�
�������
���� ∗���
�
 ∃9��� ��� ������� �����
�� ≅���� 
�� ��
���∀ ��1�)��
��� ��������� ������ ��� �����
 ��
�� �����

 ∗+� 	
��91��
�∀ � Α����∀ �∗��∗���∀ 
��

��� 4=���� ��� ��∗��
��∀ ��
;��?
�)�
������∀)�
�� �����
&�� ��∀ ����)�� ������� ��� ���
��
 �
� ��� ���������� �� �
���∗∗9������5� �� �	Α�(�1���
���� Α��∗���� ≅����� %������
&�� ��� �

�� ��
�����
	������� ���� ��� 0��&��
∀ ���
9����� �� 6�
��∀ ���� �

�1�� 

 −�/ (������ �
 0���
����∀ �

 0��?� � ����������
��� ��� !��������∀ � ∋
�����
�
� 
��������� %����+&�� ≅�&�
�
�� �� 8 �� ��∀ ��� (�����
�����
 

 .�> (�������

�����	� ��	!�	�
)��∗������!����

�
� 3������ 4
∃��/��%��

���������∗���������� 5��
&�( ����������� ,�#������ 
����� −����������� ���� 6.
	����#����� ����� ��24 
�������������� �����
����� ,�#�����#��� ���
∀���&/ ��� #���������7 ����
&�� 5��������� �( 
����
����� ,�����#����� ��#�����
�� ∋��&��� 3�� &�� 8��& ���
����� ��24 ∀��∃�1����9�
1!���� &�� ����� ∋��&���

∃
 =�� ��∀ ��
 #�
�
∀)�
�������� ��� Β����� &��

;�����
 �� 	���������������
	�∋Α �
 3�)���
���� −./.
��� ��� �
�����∀ � �
 &�����
�+����
&�����∀ �� !�����
��
�������

 ���2� ���  �&�
4
�� ��
 ���)������∀ �� ����
���
�)���)�95 ���
∀ �� �&��
&�� ��
 %��∀ 1∗� )��� #��� ��
��� !
99� ��∗
����� ��)������
��������9�1������ !��∗��
��99
� ΕΧ6�Φ ����
 ��9���
��� ��� 4≅∃�5 ���&��&��
���
��� ��)��∗��� 6�� !��&��&��
�
������� � �� )8���� 
�������
����� ���∗����� ����� 	���

��∀ ���� ��� ��+�� 3�∀ �Γ9�
9������� �
 Β������ ��99
�
���� ���� ��� Β��� ∗+� ������
7>�(�������∃����� �� ��

∃��
����
�� ∗��� / ���� 	
��
�
 ����  ��������  �&�� ����
)�
 ��� ;�������9 � ��� ≅
�
)
� �
�� ��� ���
 ∗+ ����
���� ���� ∃��

����� ���
;������� � &�� �� %�����
∀)�

��∀ ���� � ��
 3��� ���
��

�� �
����� ��� ?����

����� ��∀ �
∀ ��∀ �����
����� ∃�&����� 
�� �
 Α����
−� ∃���������� ��� 	�∋Α�

;��∗����)� ∃% )����� �������
��� ��
 !�
�������� ∃�&�������
��∀ � ����� ��� ;�������
%�
�� ��� ���� �
�����
�� ���
&�����&��∀ �� ∃������������
�
��� ��� &������ ��� ,� ��� �
�
 3���
&�� −..7 � �� ;��∗�
���� 
�� ��� ��� ∃�����������
��∀ ∃���∀ � ��� ;�1��� 


��� !�
�������� ∃�&������∀ ��
��� ��� ������ ��∀ 	�����
∀ �� ��� ������������ �� �&�
��∀ �∀ ��∀ ��� ������� )8�����
Α�� �� ������ 1 ���∀ �����

������ ≅1����� �� � �� �
∀ &��
��� 	�∋Α�0��∗� ��� 

 ���
∃�� 
��Α����� ��� ��� ∃������
&��+�� ��� ��� ������� �

�� �
 Β�
∗ ��� ,� �� �� ���
���������� Β�&��� ���
����

)����� ����9���� ������� ���
∃
��������� ��� ��� Χ�������
��� 	�∋Α�Χ �∗ �
 ,� � −..�
)�
 ��  ��� �
 ����∀ ������
��� 0��1����
����� ∋�� ����
����� ��� ∋�����&������� ��
��� 	�∋Α�0���1�����������
�∀ �∗� 3�∀)�����)� !�
������
Ε3Α!Φ � �� ��� 3Α! �����
��� ?���� ;�������� &�� �
 ���
��� Μ&���� 
� �
�∀ ���
	�∋Α �
 #��&�� −..� &��
�∀ 1∗���� � �� ��� 	����∀)�
��
��� ��������∀ �� ������ ���
)�99����

��24 (��� 8�∋��� ��
3��&������� #���������

3�∀ Χ�������� ∃
���������
�
��� ������ ∃�9���
���
��
∀ ����

� ��� ��� 	�∋Α �
∗�
��)+������ 6�� ����������
��∀)�
�� �
��� ���
�∀ ����
��� ��� <�∗������������∀)�
��
���)�99���� 6�� �9���� ∗+� ���
������� 
�� %����
∃�� ∋���+��
�� �
��� ����

�����∀ �∗���∀ � !∀ ��∗���� ���
≅��� ��∗+ ��� �� ��� ��� ;���
���� &������ �
 %��∀ 1∗��?� �
−..− ���
��∀ � ���� Α��� ���
	�∋Α �� ��� ≅����?� ��� ���
�������� ������ 9�1∀ ���� %��

����� �∀ ���&� ��)����� ���
;�1��� ����� ∋���+��
��
��∀ � ��� �

�� ��� ∗+� ���
������� ��∀ ������� ∋�����&��
����������� ∗���&������� 6��
�
�����
�� ��� ∋�����&�����
��� ��� �� �� 
����)��
� ����
�������
0�� %���∀ � 
�∀ �� ������

������� )���� ���� �� ��� !�∀ �
�
�∀ ∗�∀ ��� ����� 	���� 0���
����∀ ����� �� ��∀ � ��&���
6�� !����� 

 ��� ∋�����&�����
���� ��� ��∀ ;�1�����∀ � (�1�
������∀ ���)���  ��� )8����
∗+� ��� 	�∋Α 
�� ��
�� �
∀ 
∗+� ����� #�
9��)����1�� ���
Β���� ��
�� ������� <

���
 �� ����� &�� ��� 3Α! �


����9
�)� ��� Μ&���� 
�
�
�∀ ��� 	�∋Α ��.. ����
��&����� &��∀ 1∗����� ∗+� ���
9��������� 1 ���∀ � ∋�����&��
������������ ������� ������
�9��∀ � ��� ����� Β����� ��
≅�����
����� ��� �
∗ ���
;������ ��� �����1����� ∋��
����&��������� ���� �����&���
���� �
)�

�� )8����� ∋��
6�∗∗�����&���1��� ��� >.. &��
∆.. 	
�� 9�� ;�9∗ 
��������
��� ��� ��� ∃����� ∗+� �����
≅1��� �
��
��� ����� )8����
��� �� 8����� !+

∀ �� �
�
��

��)�

���

+�� �����	 �	�	� �	�
	�
����
�/∃������&�����∃� �
�� 2��3 �
� ∀ ��∃�
� ��%�� !∋� 1��) ��∃ ∗�
,� �

�+�


